6 — i — 1067 — 144
B md LR L= ik E OB RER AR R

S 64 4 H 10 H

TR ER BE Xt 3R =
KEFRAME m VR =0 OMZEETEICE O 144 0 B ORREFAR RIX
WDOEEY THD,
1. F=XU 2 UR— MTEDHEROBERFR
(1) AR — K XN
(2) FhH=a—A TR o — X
(3) A H IF SfeE 4 H 10 A 10:38 ~ 11:24
(4) FAATHE 72 ] 2 ~ 5  nGy/h
7K 11 ~ 14 cps
2. =X U UTHRA MK D SRR E R R
) E s S
(1) 7 H Sf1 64 4H 9 H 15:00 i =
= SF 64 4 H 10 H 15:00
QI (15) R 72 23 ~ 29  nGy/h
K 8 ~ 11 cps
1 @27)H 72l 16 ~ 21 nGy/h

K 20 ~ 28 cps
i 2 i (35 &) Z2f#] 19 ~ 25  nGy/h
K 7T ~ 10 cps

g [ iH (45) /) ZEM 27 ~ 35  nGy/h
5 K 9 ~ 13 cps
T2 x 2 WGE) R [Z=#M 19 ~ 25 nGy/h
* K 8 ~ 11 cps
/INIHT (675) J&y 72 33 ~ 38  nGy/h
AT (77) & 72 34 ~ 40  nGy/h
Wt L (875) &) Zefll 18 ~ 24 nGy/h
VR (95) 72l 24 ~ 31  nGy/h
HE0108)H Zefll 18 ~ 24 nGy/h

3. K & Z0bLHE

4. fF &
AVERSRIT. ARSI 18 A () 1258 L 7= AMSRTRAOHIEM & [l — 1~ Th 5,

ATRARE TR B RIAEIE « T R T B S AR i R B Bk R =
TEan ¢ 03-5114-2126 ARG R - SEH 10~ 12F, 131~ 181K




